Progressive Measurability If (Xn)neN: (S,F,P) -> (S,B) is a discrete-time stocherstic process, and T: (S, JP) > N is a (measurable) function, then XT(W) = XT(W) (W) is measurable. Indeed, $Q(n,w) = X_n(w)$ is $2^N \otimes F \rightarrow B$ measurable $X_T = Q_0(T \times Id)$ This automatic measurability doesn't always hold in continuous time $E_{\mathcal{P}}(X_{t})_{t \geq c}: (\mathcal{I}, \mathcal{F}, \mathbb{P}) \rightarrow (\mathbb{R}, \mathcal{B}(\mathbb{R}))$ $X_{t}(w) = I_{A}(t)$ $\forall w \in SL$ $A \in (0, \infty), A \notin B(0, \infty)$ then Xt is measurable for each t but $C(t, w) = X_t(w) = IA(t)$ is not B(0, w) = B(R) measurable $\{(t,w): Q(t,w): 1] = A \times S2$ Things get even hairier if a fittration is around.



, X. is adapted.

Now we must show that q: [0,00)×2 > S is BEO,00) & J > B neasurable. Take VEB. Then q-1(V) ~ ([0,T]×D) $= (e_T^{(V)}) \in \mathcal{B}[0,T] \otimes \mathcal{F}_T \subseteq \mathcal{B}[g_{\infty}) \otimes \mathcal{F}$ Now, $[0,\infty) = \bigcup_{T \in \mathbb{N}} [0,T],$ $\therefore Q^{-1}(V) = \bigcup_{T \in \mathbb{N}} Q^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \in \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \to \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \to \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \to \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \to \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \to \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \to \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \to \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \to \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \to \mathbb{N}} G^{-1}(V) \cap (T \oplus T \times \Omega) \xrightarrow{T \to \mathbb{N}} G^{-1}(V) \cap (T \oplus T \oplus \mathbb{N}) \xrightarrow{T \to \mathbb{N}} G^{-1}(V) \cap (T \oplus T \oplus \mathbb{N}) \xrightarrow{T \to \mathbb{N}} G^{-1}(V) \cap (T \oplus T \oplus \mathbb{N}) \xrightarrow{T \to \mathbb{N}} G^{-1}(V) \cap (T \oplus T \oplus \mathbb{N}) \xrightarrow{T \to \mathbb{N}} G^{-1}(V) \cap (T \oplus T \oplus \mathbb{N}) \xrightarrow{T \to \mathbb{N}} G^{-1}(V) \xrightarrow{T \to \mathbb{N}} G^{-1}(V) \cap (T \oplus T \oplus \mathbb{N}) \xrightarrow{T \to \mathbb{N}} G^{-1}(V) \cap (T \oplus T \oplus \mathbb{N}) \xrightarrow{T \to \mathbb{N}} G^{-1}(V) \cap (T \oplus T \oplus \mathbb{N}) \xrightarrow{T \to \mathbb{N}} G^{-1}(V) \xrightarrow{T \to \mathbb{N}}$ It is possible for a process to be adapted but not progressively measurable. Fortunately, this pathology doesn't occur in processes we care about. Propi Suppose S is a separable metric space, and $X_t = (\mathcal{L}(F_t)_{t=0}, F, P) \rightarrow (S, \mathcal{B}(S))$ is adapted and right-continuers Then X is progressively measurable The idea is to approximate X. by piecewise constant processes that are easily seen to be progrossively measurable

and use robustness of measurability under limits



Pf Approximate the function $Q^{T}(t, w) = X_{t}(w)$, $(t, w) \in (0, T] \times \Omega$ by $\mathcal{Q}_{n}(t,\omega) = \sum_{k=1}^{7} X_{kT}(\omega) \prod_{\substack{(k-M) \\ 2^{n}}} kT_{m}(t).$ Then $\lim_{n \to \infty} cln(t, \omega) = cpT(t, \omega)$ for $(t, \omega) \in (c, T) \times \Omega$ For any VEB, $\mathcal{Q}_{n}^{-1}(V) = \left(\left\{0\right\} \times X_{0}^{-1}(V)\right) \cup \bigcup_{K=1}^{2^{n}} \left(\left(\left[k-M\right] \times K_{1}^{-1}\right] \times X_{K_{1}}^{-1}(V)\right)$ F<u>KT</u> 2n EBLO, KT 10 FKT < BEDTIØFT. .- Cen is BEGTIØFT > B measurable YnEN, grol.' so too is cet = lim ce

